SENTENCES WITH '3TO

DECLENSION OF THE WORD 3TO

Task 1. Complete the sentences with the correct forms of the word

's2T0' in brackets.

1.9 3HQ/1, 4TO Thl 1HKOOULEL ____ (3TO) MYIbTOUNbM.
2. (3TO) KHVIra Mmos, a ____ (3To0) KapaHAdLW TBOU.
3.Hdwa MmamMa XO04eT KynTb ____ (3TO) 3épKA/10 B CA/IbHHO.
4. (3TO) MAQWVIHG NArnbl.
5 _____ (3T0) TBOWVI AéHbLIM, O _____ (3T0) MOV AEHbLI .
6._____ (3T0) CO6AKA He XOUeT rynsite Ha yauLe.
7.Te gétuv HAWM, a _____ (370) AéTm BALLM.
8. MHe MHTepPECHO, rae Thl Kyrua ____ (3T1o0) ceutep. ____ (3T10) [y44yin?
9. 4 cmoTpéna _____ (370) GUIBM MHOIO PA3.
10 (3T70) Kata, a _____ (Banépa).

Task 2. Translate the sentences into Russian.
|
1.These books over there are old.

2.This is Maria and this is David.

3.0ur cat doesn't eat this soup.

4. Where did you buy this phone? - Is it iPhone 60007

5.This is a very expensive school.

6.These cars are fast.

7. This is my dog. These dogs don't bite.

Task 3. Circle the correct form of the word 'asT1o'.
]

1.3107 / 3TC OEBYILIKA He /TIO6UT LUBETHI, OHO CTPAOHHAS.
2.9 He xo4y ecTb 3ToT / 3TN cTdpbie KOHPETHI.

3.Eciiv Thl Cbélb 3T0 / 3Tn, Te6¢é 6yneT rniodxo.

4. He cmoTpu 3ToT / 3TO pLisibm. OH HE CMe L HOM.

5.910 / 3TA MalUVIHO Moerd oTud.

6.9Tn / 310 Te AETU, KOTOPbIe He XOAAT B LUKOY.

7.9710 / 3TA HOBOCTL Y)KACHAS! MHe »db!

8.9 3Hd 0, 4TO Thl He éb 310 / 3TA.




